Chemistry 3331-100
Organic Chemisory/Dr. Bamey Ellison
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1. {20 ptsh Starting with indicated subsrates, camy out the following transformation. Use
any reagents you like  Acclosudic tbe % ';*-u—hk suid Sl
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2. (20 pts) Provide n reascnable explanation for each observation,
2) 4-Methylpiperidene has a higher boiling point than N-methylpiperidene.
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b} Two isomeric quaternary ammonium sakts are formed in comperable amounts when 4-
ferd-butyl-NV-methylpiperdine is trested with benzyl chloride.
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) When tetramethylammonium hydroside s heared w130 °C, timethylamine. and

methancl are formed,
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) The major product formed on treatment of | -propanamine with sodium nitrite in il

HC{ is 2-propandd.
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3. (20 pts) Searting with indicated subsirates, carry out the following transformation, Use

any reagents you like.
a)p-aminobenzols ackd from p-meshylaniline H 50
y ooh

5] L&) a
thy & c-o-e—Hs CRy  Na,Cr04
3
S — 2+ ©
I
M, A Ae S
oot 90 4[us
<

B %

A

b pFCHACO-CH:CHy from benzens

HND, o  re N
H@ e ©
& -o-E=chs
l
il AhAc
Wy i-‘-.;_,f::lr ‘LTJ = Qﬂﬂ?; 5
~ A Ch,Cl, Lo
E_'CH.L{HJ.



6= L/ 1eeT

Whz e
&) chy 1 chy
O™ - O
e TS
BOKD 4
W}
l' tuby 'tlnr cHy ®Fe HowiD
\\__:-} “'-..f@j( -_ﬁ;f e
p‘l-
Ef__ el AN
d) (0 o DW)\ |
Ve i amle)
o DI_\F_}} T ~O Q)
el Ay ¥ N
S | A2 Loy
\
OMe Ole
Faad
‘,r"'é\ﬂ f%? j::i.h
5 N0
mnﬁg@}%f;@} = hﬂ*@”ﬁ}
el NH;__ M l
o



-T= 1ines7

4. (10 pis) Cumene {izopropylbenzens) is & relatively inexpensive commercial material,
Indicate a route to prepare m-isopropylnitrobenzene from cumene.
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5. {10 pts) What i the product of the following reaction?
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& (10 pes) Chiorbenside is a pesticide used to control red spider mites and it is prepaned
hyﬂum'hﬂw Identify A and B in this sequence. What is the structure of
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7. (10 pis) What is the mechanism for this reaction?
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